



THE MONEY CHARITY

# ABOUT US

**Charity number: 1106941** 

The Money Charity is a registered company with Companies House & we follow the Charity Act 2006. Our system does not take any money from anyone. The function of this system is to connect people to send gifts to each other without any commitment.

The Money Charity is the UK's financial capability (financial education) charity. We develop and deliver products and services which provide education, information and advice on money matters, in an appropriate way for young people and adults.





#### **COMPANY BACKGROUND**

The Money Charity Registered at companies house on 12 June 2019 & amended on 25 April 2022.

- Money Lance is AMFI- Registered Fund Growth Distributor.
- We are successfully growing all type of investment for last 7 Years.



- We have Great Research team in cryptocurrency since 2013.
- We are successfully running crowdfunding platform since 2023 with no complaint & no withdrawal pending.





### **JOINING AMOUNT**

**5.5**\$



□ All work in USDT (Bep-20)



### DIRECT INCOME





☐ You can make unlimited direct to grow income.





Level	TEAM	AMOUNT	TOTAL AMOUNT	UPGRADE	RANK	PROFIT
100	-	-	-	5.5\$	SILVER	-
1	2	5\$	10\$	7\$	GOLD	3\$
2	4	7\$	28\$	15\$	PLATINUM	13\$
3	8	15\$	120\$	50\$	DIAMOND	70\$
4	16	50\$	800\$	100\$	RUBY	700\$
5	32	100\$	3200\$	200\$	ZIRCON	3000\$
6	64	200\$	12800\$	400\$	GARNET	12400\$
7	128	400\$	51200\$	800\$	EMERALD	50400\$
8	256	800\$	204800\$	1600\$	JASPER	203200\$
9	512	1600\$	819200\$	3200\$	QUESERA	816000\$
10	1024	3200\$	3276800\$	NO UPGRADE		3276800\$
					TOTAL	43,62,686\$

## **UPGRADE**





□ To avail the benefit of any rank, it is mandatory to be on the rank.



#### TERMS AND CONDITIONS

- After registration, you are required minimum 2 Direct within 10 days.
- It is mandatory to upgrade your id by 7\$ within 10 days.
- After achieving Diamond Rank, 10% of your income will have to be purchased MLC token.
- Instant withdrawal system
- Minimum withdrawal 10 USDT
- Wallet to wallet transfer (No charge)
- Minimum transfer 5\$
- System support 24×7





MONEY LANCE WILL IN EVERY HEART

# THANK YOU!

www.moneylance.io

